
B.Sc. 6th Semester (General) Examination, 2022 (CBCS) 

Subject: Chemistry 

Paper: DSE-1B 

Time: 2 Hours        Full Marks: 40 

The figures in the right-hand margin indicate full marks. 

Candidates are required to give their answers in their own words 

 as far as practicable. 

দক্ষিণ প্রান্তের সংখ্যাগুক্ষি প্রন্তের পূণণমান ক্ষনন্তদণ শক। 

পরীিার্থীন্তদর যর্থাসম্ভব ক্ষনন্তের ভাষায় উত্তর ক্ষদন্তে হন্তব। 

 

1. Answer any five questions:                                                                      2 × 5 = 10 

যয ক োন ো পাাঁ চটি প্রন্তের উত্তর দাও : 

(a) Why trifluoroacetic acid is a stronger acid than acetic acid? 

ট্রাইফু্লন্তরাঅ্যান্তসটিক অ্যাক্ষসড অ্যান্তসটিক অ্যাক্ষসন্তডর যচন্তয় শক্ষিশািী অ্যাক্ষসড যকন? 

(b) Give two examples of reducing property of formic acid. 

ফরক্ষমক অ্যাক্ষসন্তডর ক্ষবোরণ ধন্তমণর দুটি উদাহরণ দাও। 

(c) What product do you expect in the esterification of                   by            ? 

             এবং         এর মন্তধয ক্ষবক্ষিয়া ঘটন্তি  ী ধরন্তনরএস্টার পাওয়া যান্তব? 

(d) Write the IUPAC nomenclature of- 

IUPAC নামকরণ যিখ্ - 

(e) What do you mean by “Peptide linkage”? 

"যপপটাইড ক্ষিন্তেে" বিন্তে েুক্ষম কী যবাঝ? 

(f) What is Zwitterion? Give an example. 

Zwitterion  ী? একটি উদাহরণ দাও। 

(g) What are the uses of DDT? 

ডিডিটি-র ব্যব্হোরগুডি কিন ো। 

(h) What is the role of binders in paint? 

কেইনে ব্োইন্ডোরনের ভূডি ো  ী? 

2. Answer any two questions:                                                                    5 × 2 = 10 

যয ক োন ো দুটি প্রন্তের উত্তর দাও : 



(a) Discuss with example-                                                                     2.5 × 2 = 5 

(i) Method of ascending the sugar series: The Kiliani-Fischer Synthesis 

(ii) Method of descending the sugar series: The Ruff Degradation 

উদাহরণসহ আন্তিাচনা  নরো 

(i) পরবেী উচ্চ sugar series এ পক্ষরবেণ ন: ক্ষকক্ষিয়াক্ষন-ক্ষফশার ক্ষবক্ষিয়া 

(ii) পূবণবেী ক্ষনম্ন sugar series এ পক্ষরবেণ ন: রাফ ক্ষডন্তেন্তডশন 

(b) (i) Give one chemical test to distinguish between CH3CH2NH2 and CH3NHCH3.    

                                                                                                                          2 

CH3CH2NH2 এবং CH3NHCH3এর মন্তধয পার্থণকয করার েনয একটি রাসায়ক্ষনক পরীিা যিখ্। 

(ii) Identity ester (A) and Grignard reagent (B)that could give 3-methyl-3 pentanol 

by a single reaction, followed by protonolysis.     3 

এস্টার (A) এবং ক্ষেগনাডণ  ক্ষবকারক (B)যক শনাি কর যা যর্থন্তক 3-ক্ষমর্থাইি-3 যপন্টানি একটি একক 

ক্ষবক্ষিয়া এবং োরপর যপ্রান্তটান্তনািাইক্ষসস দ্বারা প্রস্তুে করা যযন্তে পান্তর। 

 

 

 

(c) (i) How will you convert glucose to fructose and fructose to glucose?           2.5 

কীভান্তব গ্লুন্তকােন্তক ফু্রন্তটান্তে এবং ফু্রন্তটােন্তক গ্লুন্তকান্তে রূপাের করন্তব? 

(ii) Glucose and fructose give identical osazones. Explain.                               2.5 

গ্লুন্তকাে ও ফু্রন্তটাে অ্ক্ষভন্ন ওসান্তোন যদয় । বযাখ্যা কর । 

(d) What are the characteristics of a good varnish? Write the preparation of crystal 

violet.                                                                                    2+3=5 

একটি ভাি বাক্ষনণন্তশর ববক্ষশষ্ট্যগুক্ষি  ী  ী? ক্ষিস্টািভান্তয়ান্তিট-এরপ্রস্তুক্ষে যিন্তখ্া। 

3. Answer any two questions:                                                                    10 × 2 = 20 

যয যকাক ো দুটি প্রন্তের উত্তর দাও: 

(a) Identify the products (A-J) of the following reactions-            1 × 10 = 10 

ক্ষনম্নক্ষিক্ষখ্ে ক্ষবক্ষিয়াগুক্ষিন্তে উৎপন্ন পদার্থণগুক্ষিন্তক (A-J) শনাি কর- 

 

 

 



(b) Write short notes on-                                                                  2.5 × 4 = 10 

টীকা যিখ্ - 

(i) Hell-Volhard-Zelinsky reaction 

(ii) Mechanism of the base hydrolysis of esters (BAC
2 mechanism) 

এস্টান্তরর িারীয় আর্দ্ণ ক্ষবন্তেষন্তণর ক্ষিয়ান্তকৌশি (BAC
2 ক্ষিয়ান্তকৌশি) 

(iii) Gabriel phthalimide Synthesis 

গযাক্ষিন্তয়ি র্থযাক্ষিমাইড সংন্তেণ 

      (iv) Isoelectrical point 

আইন্তসা ইন্তিক্ষিকাি পন্তয়ন্ট 

(c) What are Prosthetic groups and Apoprotein? What is mutarotation? Give two 

examples of antibiotics.How is paracetamol prepared in laboratory?   3+2+2+3=10 

প্রন্তেটিক গ্রুপ এবং অ্যান্তপান্তপ্রাটিন  ী? ক্ষমউটান্তরান্তটশন  ী? অ্যাক্ষন্টবান্তয়াটিন্তকর দুটি উদাহরণ দাও। পরীিাগান্তর 

পযারাক্ষসটামি  ীভান্তব প্রস্তুে করা হয়? 

(d) Discuss the production of Margarine.  Write two examples of saturated fatty acids. 
What are the uses of nylon-66? How does soap remove dirt from clothes?       

                                                                                     3+2+2+3=10 
িোর্জ োডরন র উৎেোে  ড ন়ে আনিোচ ো  নরো। সমৃ্পক্ত ফ্যোটি অ্যোডসনির দুটি উেোহরণ কিন ো। নাইিন-66 এর 

বযবহারগুক্ষি কী? কীভান্তব সাবান কাপড় যর্থন্তক ময়িা অ্পসারণ কন্তর? 

------------------ 


